Y9 Solving ratio & proportion problems
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: | Proportion: a comparison between two numbers '

the end of this it you shoud be ableto: | : Ratio: a ratio shows the relative size. of two variables :
Solve. problems with drect proportion : | Direct proportion: as one vanabe 15 multipled by a scake factor the other variable s mutipled |
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* (ke conversion graphs by the same scake factor
* Solue problems with nvesse proportion Iverse proportion: as one. vanable s multipled by a scale. factor the other i dided by the

»  Solve ratio problems
. Sohe best by probers same scake factor.
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| Thss a mukilcathe change : | ~§80 I nereases so does the ofher ot the same rate |
: 4cans of pop = £240 m . | : Sl I
50
| 4 cans of pop = £240 « . 12 cans of pop = £720 I T mies To make conversions beteen units youneed to find the. |
| © g ) ‘ 20 S | | / poirt to compare. — then find the. associated poirtt by |
cars of pop = £1 i
: Sometimes this & easiest : | | Lobelng of both axes Llfmu:?g lﬁ;gﬁgﬁ for accuraey |
| T mufer st sae ffyou work ot o much | | sV Showing your conversion Ines help as a “check” for |
I the some way that this ore wnit is worth first | | soltirs |
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| James and Luey share £350 n the ratio 34 | iside a box are. e and red pers inthe ratio 511 | | : |
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